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rickrum =] DK cach perform
rumkla <61 Y &

HBdal 8 7
Study the follou ing mformatlgg
carefully and answer the question gtV
below.

Here are some of the words

from an artificial language :
If klaplac means filmy holiday

translqted

V}}acnck means holiday beach

52.

53.

«1ckrum means beach perform .
rumkla means perform filmy - . o
u?d mean “perform athletics”™ ¢

Which word co

(A) placrum (B) rickkyut

(C) plackla - (D) rumstrow
THegA1 e s I <+ gd
et o, Sifed i g gae 30 e S &

@Y | 379 98 UH 4 2 oI U8

SR ugd g T | T TE R 7

Irragine that your watch was comrect at noon,

but then it began to losc 30 minutes cach

- hour. It now shows at 4 P.M. but it stopped 5

hours ago. What is the correct time now ?
A) 1:00 AM. (B) 9:30 P.M.
(C) 1:30 AM. (D) 11:00 P.M.

21 18 Fat Il § I T H T B
ety ampfa affEa R |

From the given answer figures, sdcct the
one in which the question figure embedded,

e el GO

ncrnl Intelligence Test

54.
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LN

i
3

.

frafafaa 744, X) & fy,
e (A). (). (Q)SND) R
wiafea 91 |

In the following question, choose p,
correct water-image from alternatjy,,

(A), (B), (C) and (D) for the figure (X),

X)
anﬂvr
anﬂyr an‘?@ygﬂ

af + o1 399 -, x T 5 [y =+

a7 o1 o1 x &, @ FrefeRaa y@ &
IW G B

If + means —, x means /, — means + and/
means x, then find out the answer of the
following question : '

(48 x 6)/4

(B) 30

932

(A) 36
(C) 34

994 3TT%id / Question Figure : S6. A ‘when’ i 319 'x, *you’ 1 3 '+
‘come’ T 27} ‘= IR will’ 1 aed
2, W “8 when 12 will 16 you 2 come 10"
IR rgtadl / Answer Figures ; B A 1R 2 |
) (=) i If ‘when® means ‘x’, ‘you’ means '
(A) % (B) @ ! ‘come’ means '~ and ‘will” means “+"
—_— —— then .what will be the value of “8 whe!
|§A| D) "E‘ZEE 12 will 16 you 2 come 10" 2
© |I\B Gy (A) 97 (B) 94
i e ©) 70 (D) 80 - B
6 ” "0
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To the following question four probable
answers have been given. Select the most
appropriate alternative as the answer.

" If you are a manager and one of your

employees is not working properly, as a

manager you would '

(A) talk to him and try to find out his
problem. '

(B) try to develop the man’s abilitics
and interest in another job.

(C) fire him.

(D) give the man two weeks to improve.

fyeifafaa wea 3 W SR S f T

- § | IS w9 T gl g [Aaeed =

= HiAT | :

. 3R AT 3 Skl vt 9 )

T AT TR R | 3T -

(A) 38.7utd & 3N mive 2§ argeed
M % [eTU BT T@H1 <R |

(B) 3Gehl 98 & Tou 3wER_wlién
3Te] | g il | _ T

(C) 39 | 3eE B |

(D) TMEIA S B h—"

To the following question four probable

answers have becn given. Sclect the most

appropriate alternative as the answer.

Your maid has invited you to her

daughter’s wedding. You would-

(A) congratulate her and make up some
excuse for not being able to attend.

(B) buy a gift for her daughter and help
in wedding. :

(C) completely ignore her.

(D) attend the wedding.

F Q ®M_T_HE Y, a0

B 11 1 S S G e 14 ol It IS0 A B f e e B A 41 L T W ) e g 3 s
BNy g

7

59, rq awen 9 Pk 93 ¥ Ry Fafafea 4
A e T & T P s e R 7

E@Et@naﬁ){sﬂtvmw
T

(A) WHE B T ) 1wl 2 |

(B) X 3Y =1 STHRH GHIYTH 7] 2 |
(C) X 3MCY & 15 % ot € )

(D) X 3fCY @M E I,

Which of the following statements can be
used to take a decision on this problem ?

What is the product of two natural
numbers X and Y ?

(A) Problem cannot be solved.

(B) LCM of X and Y is 71.

(C) Both X and Y are multiples of 15.
(D) X and Y are distinct.

1

60. Preffes s # 9§ 3 I39E
few 7T weA 1T I 2
GG GO IR AR ITEAF TS
T % &9 # 9% frag #m ¢ | 7w D2
H9 Al D4” weal & f% “take your shoes
out™ | it fram “B2 Al C1 A4” Fgal
f& “take instant right tum” | EECI
frm “C3 P1 D2 C1” et @ 76 “jump
on your tum” | 3@ ¥ fA “B2 D4 K2
C3”wgarg s “jump-out instant again: |
‘take right move’ %ﬁiﬁﬁmﬁﬂaﬁg@’m I
Read the following information and
answer the question given below it :
A few kids are playing in a park. They
make four rules as a part of a-game. The
rule “D2 H9 Al D4" states that the person
would stand up and “take your shoes out”.

Then the rule “B2 Al Cl A4” sta}cs to
“take instant right tum™. After this the

rule “C3 p1 D2 C1” states that “jump on
your turn”. Finally the rule “B2 D4 K2
C3" states “jump out instant again”,

Find the possible code for ‘take right
move’,

(A) ALT1 A4
(C) ALPI A4

(B) A1H9 A4
(D) A4 A1 K2
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foremr, 3173 T TH-TE b Hod e A
23§ | fdw, 61 % Tl A D s e
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SMENH A} 1 o, dg F i w2
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(A) &7 (B) g1

(OREEL (D) T&q

Pooja, Qu::cn, Rohan, Suresh, Tecena,
Umang, Vivek and Willa, cight friends
are seated in circle facing each other.

Vivek is third to the right of Queen and
second to the left of Rohan. Queen is

second to the left of Teena and :

immediate right of Suresh, Umang is

T R A e e g
A e vyt e -y

7 A, fria B % 30 fizg g 1 2
2 A% 10 ﬂmaf&miig'jl
F 1S Mt ufFsm i Y | fiz g
B oy i | fag y,
Wy frg § | DEF ) o
ﬁgla‘,ﬁ@[)fﬁmﬁ%l
15 ez ud 4 g A A
aﬁ%agmii%?
W) 15, @ (B) 107, T
C) 107z, 7d (D) 151w, 3
the cast of point B,

oint A is 30 m to
Point C is 10 m to the south of point A,
Point D is 15 m to the west of point C.
Point E is exactly in the middle of the
points D and F. Points D, E and F lie in a
Straight linc. The length of the DEF js
.n. Point F is to the north of point D.
Point G is 15 m to the east of point F.
How far and in which direction is point
G from point A'? |

iz

1
I ~
i
i

~

i
[
i
!
i
[
i
i
!

B — - L

A) 15 m, East B) 10 m, North
ben}:'e?nﬁQufeﬁn l?nd '\lislclzna. Pooja is nI:)t gc} 10 g Eggt 51)% 15 m, North
at tne leit of Rohan. Who is sitting to the - NN .
immediate right of Willa? A g/ s WFJ T, Wﬂ
(A) Teena (B) Pooja - 7 3N *——hji-:ﬂm A « <l 31
C) Vivek D) Roh : E@m 33% - N .
(C) Vive (D) Rohan i N q E%gm“%m
= Ru w3 ¥, qe wyw F ae un 0T R TSI R |
2. W, WA U A |
1 feg e § | fee T e & e 3. W TWEEER]
| gaftrd il & T 1) 1 959 AL | 4. FiHH, GO AR S A dTE R |
' T, I M FI F TR A T R |
FA A A A S, MTRHAIRTER | R 9
a. ARl - (A) 309, TR IR QU H A H
b R (©) 7 3 v e
- (C) W, AT |
c. FWAATATER 1~ (D) ﬁm,aﬁmaﬂzw%ﬁa%xﬁ
o Paresh, Qasim, Ramesh, Suresh/ Tushar,
d. %m@qﬁmal Ume(sihI gmin. a?ld \\;asgm ?]re sitting
! H H 3 & 1 t tre @
I othe  following question, the main | (MG LRSS Second to e riant ot
statement is followed by four sentences. : Tushar who is the neighbour of
Select a pair of sentences that relate Ramesh and Varun.
logically to the given statement. 2. Sureshis n}?t the nlci)ghbowf-_ %f Panl:sh.
. R in i i . Varunis the neighbour of Umesh.
Etatg;rrl:i?:d. Either the train is late, or it 3 qgsim A \Eot.t%el\yeen Surgsh nd
as : Wasim. Wasim is not between
a. The train is late. Un]{l?‘s}l] mt!d”Surgle_ "
e i 'hich of the following is correct °
b.. Thetrain is not late. & hICU‘Iﬁcshlis between Wasim and Suresh.
. s : A) : ; : {
c. The train is derailed. EB) ({usim is to the immediate left o
i ‘rai Jasim, . .
d :hjtr/aﬂ l5not ?It;r)al‘l;d* ! (C) ?’m}tlﬂ: is to the immediate right of
(é) a;% (D) dhyf (D) gﬁ:gh is between Umesh and Varun.
“E-“)_._.-- ........................ ! llllllll . o
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AR ﬁt{wmﬂﬂtﬁﬂq Scleet a suitable figure from the Answer
U PfFaa wifga s v, Figures that would replace the question mark :

| =1 3¢ ‘B‘Ef |ae Wﬁﬁﬂ/ Problem Figures : J/
? %7 ared B wiTem el |V |9 |
& 1 3 B IW

!WW%%?{@WT :-IHIEH’@RWTIAnswcr Figures : 6
Atz ;AR A s w Ty Ry E @ Fl anl < < p

24 el w fam s % T 2 G @ 5 —
s 58 B e
&! 1 37 B IW-T 67. Eaﬁm:qmizw-w:_._

/1 =1 31k R gfor-gd : (A) GAT=TE (B) Hiftzan

W g XA g wm kg ) | (©) T VRN

AR a1 7 | 20 e A gft 7 oM & | (A;cﬁe\{fsr;i?;port .(.B)c\hvdsg;i};er -

it 7 aTd g R, 31k 15 fex woren 2, 168, A Ry # o wA st mw R
3% 9IC 98 ¢ ST & 3N 15 HieX 3R R lm_gg_mm%ﬁg

<ol @ | 379 39 =i &1 g@ fra fem H
AR 7 |

Study the following information carefully
and answer the question given below :
In a certain coded language,
! means East
? means West
& means North
/ means South
" Note If two symbols are/ given

simultaneously, then we will /consider
both the directions.

- For example,
&! means North-East
/! means South-EFast .
A man starts from point'(}()g fﬁ‘moves
towards east. Afier walking "for a

distance of 20 m, he takes a riE it turn, |
and walks for 20 m, then he takds a left

turn, and walks for 15 m, after that he
takes a right turn and walks 15 m more.
In which direction is the man facing now ?
(A) ? (B) !
) & (Dy'/

PR

(C);%%—cnm%aaﬁsnmwh

|

(D) %agmrmamxmm
|

Question below consists of a question and
two statements given below it. You have to
decide whether the_data provided in the
statements are sufficient to answer the
&ucsnon : . :
uestion : How is J related to P ?
Statements : .
M is brother of P and T is sister of P.
Il P's mother is married to J's husband
who has son and two daughters,
EA) Neither I nor I1 is sufficient,

{0

B) Either I or II is sufficient,
[ alone is sufficient while 11 alone is
. not sufficient.
(D) 1 alone is sufticient while I alone is
not suflicient,

=

-

Ao S Y b i
B Bt e i mumu--m—--nun...-

KK2
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(C) FaA IR E |
(D) e [[TAH R |

In the following problem, there is one
question and three statements I, II and III
given below the question. You have to
decide whether the data given in the
statements is sufficient to answer the
question. Read all the statements
carefully and find which of the
statements is/are sufficient to answer the
given question.

How is the man in the portrait related to
Jignesh 7 AT .
I.  Pointing to the portrait, Jignesh said,
“He is the father of my mother’s
only grandson”. ' _
Jignesh is the only child of his
parents. . _
Pointing to the portrait, Jignesh said,
“He is the only son-in-law of my
father”.

(A) None of these .

(B) Only II and 111 are sufficient.

(C) Only 1 is sufficient.

(D) Only I1 is sufficient.

11,
I1I.

70,

A

L

------- LT
Y

fafin a7 A wh e @ | T S i

sem B Rt 3am g % wem Ty

H 13% I AP AFEEE FOQ5y,

3eTe Wil & | AT € % T T SR,

afe sifvafa o fem T @ 2050 9% T

Tt Tl I T 17% ITEA BT |

fafafga 4 @ =7 o, 3 o= 8, 37w

TN 1 ek ) FHAR BT B ?

I fuftin fFas wreE IoeE # FEa
AT 1.2% 2 |

1L 2020 T &0 G 9Tc] 347 e 3 A
BiTet 3w S BRI IR R |

111, ferfam & fore wge Uy weE, st
e ARCUCE IS L L E R
ITAGR, FEI HifeA=hi 7 77q gl % 9
Fl GE FE F e Iywor wnfva
fou &, I I FET WEW S 3N
TR E |

(A) L3RI (B) Shawr I 3R

(C) FEA13R 1 (D) Haet 11 3R I
Shipping business is quite dirty. Burmning
heavy fuel oil, shipping industry

produces 13% of the world’s Sulphur
emissions and 15% of its nitrogen
oxides. And by 2050 ships will be
producing 17% of all carbon emissions if
left unregulated, according to research by
the European Union.

Which of the following, if true, weakens
the argument in the passage above ?

I. Shipping accounts for only around
1.2% of global carbon emissions.
Demand for low-Sulphur fuel oil
and marine diesel is expected to
reduce in 2020. :

As per rules brought in by the
International Maritime Organization,
the United Nations agency for
shipping, ship owners have installed
equipment to clean the dirty ballast
water their ships suck in and
discharge.

(AY AllL, ITand 111 (B) Only I and Il
(C) OnlylandIl (D) Only Il and III

111

KK2

10
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s s Anad B

et s e 8

AT 34 TAD

Bl - I
oA g A A A g0
13'5‘5%3%5_@@#1% | o) B |
FFaREd e v

It is between 3 pm and 4 pm and lhcg
distance between the hour hand and the !
minute hand of clock is 18 minutes
spaces. What time docs the clock show 7 1
(A) 3:36 pm (B) 3:31 pm
(C) 3:12 pm (D) 3:27 pm

51 R, 1087 ) GHE H1 B T RA 1 7 E% i : |97|85{63]36] 16/ 04| 19 09

(A) TR (B) YFRaR
(C) TR (D) WHER
What was day of the week ‘on

R ]

21 September, 1987 ?

(A) Saturday (B) Friday -
(C) Sunday . (D) Monday

. - . !
F IO 1 R HW 51 ge g

7g ¥ T it &I hoel Ioe W 9H
Higd T G4 AT I1-39@ &1
T | 39 R0 el ST S eI T
FT S0 F qE 3T ARl $ T TS
=1 gig wntigr &) STaggehal gl 2l
qiee 7<) TG W U A1 E ;
(A) &1E +ft T ftese 1 I A
0 T o
(B) Xl Hi Gl | &G A ° ST
BT a[i“aq | 4
(C) eI TAG YT R A € |
(D) 3T arct el 1, Ta S HATaTaH
Heh daaiaads hiwe 3 |
The basic principle to cxpand youri
business is that the company should be j
more service-oriented rather than focus ;
only on the production. This requires the ¢
active participation of the managers with §
the other people rather than just working {
on the products and the assemblies. i
The passage well describes:
(A) None of the options is
describing the passage. -
(B) Managers should be good at talking
to people.
FC) Focus on service not on production |
D) In the upcoming days, the most needed |
factor will be interpersonal skills, .
]

EmipwanG

] CEW UL

o LB

well
B

NYRe FI B B i A b Bt 10 ] Bs B e -l

T s AT P
AR A R S R E T D T g g Y Faag g T e A e T -

A7 DAL SN D |74, TH ToRE ST S FE 3 8w

S 2, A o Pl 1 e F §T 3T
wh frim A gEeRaEm R
(gaqe: [85]16|36]04]19]97]63 |09
wi1: |97|8s|16|36]04|19]63|09

o |97]85]63|16]36|04] 1909

= 1v : |97|85]63(36]19] 16/ 04| 09|
TV |97(85/63[36 1_9'16J09[04}
(Rure gz % g = v sifm =t 2 1)
feu mu 39e & foau FefafEa d @ == @
- iferH = g ? h

L - 03 31 43 22 11.09

(A) FHIBETE (B) I

©) 1Iv D)V

An electronic device when fed with the
numbers, rearranges them in a particular
order following certain rules. The
following is a step-by-step process of

rearrangement for the given input of
numbers :

Input: |85/16|36(04|19|/97(65)09
StepI: [97]85|16]36]04[19]63(09
Step11:[97|85[63]|16(36(/04|19[09
Step Il1:|97|85(63|36/16{04|19{09
Step1V:[97[85]63[36[19116]04}09
Step V.:[97]85[63(36/19[16|09]04|
(for the given input step V is the last step).
Which of the following will be the last
step for the given input ?

Input:- 03 31 43 22 11 09

(A) None of these (B) 11

€)1V (D) V

11

B s,
b e b

e ey

KK2

Q
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e Wiz B I X, Y 3l 7 3 fewme 1Y
T QST AT Y S g e T R |
e fred] # A g Bm e ITwes
T T (WA W) 7g  fo@ |

A sheet has been folded in the manner s
shown in X, Y and Z respectively and
punched. You have to choosc froim the
altematives how it will look when unfolded.

—

75,

E { Q 0
e
(A) a ®) |E
(©) Q (D) .

76. ﬁm%r%awﬁwﬁmnm%aﬁtsg
TR % 915 e fer T € | fresai @
3R {5 fifa =t T feu o fseat o
I 91 99T T e <6 e o 5o fen

g T H ST FE © |
FIT A C ek IR ke D IFIEY
T 2 arsaeh AT o 9t AR ST |

o e e Y T T Y Rl By o s 0 e e Ty

77,

78.

Frafaf mm&t«rﬁq%ﬂaﬁtmﬂ:ﬁ-
few 7wy o g Ao

, B g, af =i
L
3, bl
R b A L
}A) ¥ s 113) gfe (C) Tt (D) T

tead the following information ~and
answer the Ic_|ucsuqn given below it :
There are five friends - Sachin, Kunal,
Mohit, Anuj and Rohan.

Sachin is shorter than Kunal but taller
than Rohan,

Mohit is the tallest.

Anyj is a little shorter than Kunal and
little taller than Sachin. )
Who is taller than Anuj but shorter than Mohit ?
SA} Data inadequate gB% Sachin

C) Kunal D) Rohan __

50 Bl 6l T Hel 6, 18 FIX 4 &, 26
HEhA oid & S 2 T AN EEA o1d 2 | 2l
1} fobe T 41 Hepd 1 S T A | ?

In a class of 50 students, 18 take Computer, 26
take Sanskrit and 2 take Computer and

Sanskrit, How many students in the class are
not enrolled in either Sanskrit or Computer ?

i W12 ®10©5 D8
I. %m R fomm w5 @ @il @l i79. zﬁﬂ@f@aﬁggﬁ%ﬁmm@ﬁqmm
I aﬁﬁﬂﬁwwm% < Tl ¥, _ E@@
(A) Fa1 13T €11 ITET AT | Chiousc WHIciT 0T the wing diagram
ORGICLE: ] S Salip acng e e
EIC); S P }I GIEI,HTUT'EH@T%%II ' Sports channel, ten spEns, neoysborts
In following question statement is given (A) @ (B)
and the statement is followed by ! 00
conclusions. Read the conclusions and then § © @o . D) ~5
decide which of the given conclusions {80. 3I® HiTg ﬁ“ Eﬁ ol fea T HITH HI W
logically follows from the given statement, V) q T 97 & I T
disregarding commonly known facts. Choose the box that is similar to the box
Statement : Some people say that bad formed from the given sheet of paper (V).
thought comes to their mind when they L1 o

O
try to sleep. :
Conclusions : e "ol Hhoual V)
. Only few people see bad thought 6 -
while sleeping. . . _
thoughts come in the moming. @ ® © (@

H&) Iﬁgi%l?gg I :ioorgil follows. (A)Y T (d) (B) 9 (b), (c) 3t (d)
B) Either I or II follows. (C)aﬁa(a)aﬁt(b) (D)'alﬁﬁ(c) (d)
( Only conclusion I follows. gAgﬁd) only §B§Eb)’ () and (d) only
D) Only conclusion 11 follows. 1 C)(a) alld_.(_P..)._?_I.].‘."il;.,D ¢)and (fi) only
(D) Only cone - .

BIRRTER . ey
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81.

82.

‘mmﬂﬂ?ﬂ%ﬂ% | 371 R U 7] =7
sl Ay 12 T g R 7 R gEl @
s} | F591 AT fRe w0

(A) 27 9T (B) 259

(C) 20 €T (D) 229

Today is Varun's birthday. Onc ycar
from today he will be twice as old as he
was 12 years ago. How old is Varun
today 7 :
(A) 27 years (B) 25 years
(C) 20 ycars (D) 22 years

ﬁﬁﬁmmﬁ?w%,ﬁmﬂm

a6 1 TR 11 feu e & | 3nen! @8 o § 6
aﬁqm/ﬁa&na%:’%%/%l

FYA_: T A1l it T ARAl 3kt
31 S ] GO ®Y @ RNEd BT el
J7 9 Yifra ST AR i o
:tffﬁﬁﬁuqmﬁlﬁmmﬁ?

L wE, ¥ S ot Tl SR |
wifey, w3 Gl Hgern |
sifires GfEEM & |

1L 3% =1 s it e S SIRY
itfs ARAl 6 WA B S & I A

bR oy

(A) TEAMIIRAFTHIAW & |

(B afe A 141 [1 79 2 |

(C) afe Faa 1 Here & |

(D) afe e 11 59 @ |

In the question given below Statcment is
followed by two arguments I and 1L You

have to decide which of the arguments 1s §.°

a ‘strong’ argument

Statement : Should parents cducate both

their daughters and sons cqually or the sons

must be made more educated so that they
can help in financial matters of the home ?

Arguments :

I. No, sons must be made more
educated as they are more intelligent
than daughters.

II. Sons must be made more educated
since daughters get married and go
to another place. |

(A) If neither I nor 11 1s sirong.

(B) If either 1 or 11 is strong.

(C) If only I is strong.

(D) Ifonly Il is strong.

.....

g3, Prefafas y@m O o 5w & 9g Q w6
feu e ¢ | R 7% W Fn R fe e A
T T/ TF a2/ |

wYA ;. 7 AR F g o weEd B
AT B =0T 7
wh
1. !, 9% Fh FHrET S H R S
qatarr 3 fore FTEHR B0
o 11, T iR T oft srerer g gt |
% (A) 1311 &l T 2 |
(B) AN ATAR N TALAE |
(C) T T [ T € |
(D) et ads [ 7o @ |

Following question consists of one

statement followed by two arguments.

You have to decide which one of them is

stronger. :

Statement : Should all government work

for job must be online ?

Arguments :

I. Yes, this will reduce p%;‘;w k and
beneficial for environnient.-

1I. Yes, this process will be transparent
and corruption free. _

(A) BothIand \1 are v‘?f ok T

~(B) Neither [ nor 11 is strong.

: (C) Only argument I is strong.

: (D) Only argument Il is strong.

! 84, :ﬁaangmﬁﬁgaﬁmﬁﬁgmﬁﬁ@%?

How many total triangles are present in
below given figure ?

L

PR TE T

L Lt L

- s [ s P P L A
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(S.H. 85w 86) : a3 a%zrxi% l\l:_N,]O I, %
. JAHT ¥ HT3N 3 <l
FRTE FT 43 §, e o) 7 o 50} 760
R AF H T a7 W 2 A -
S, FEf-af, S, s, g JREE,
W Wy, o weeen sl way ey | M
T T & o A it e w der | vE
Py 3k T F 9 e JoaRs A3 § | g
BIEErAC e i ﬁmn_@ﬁ'lﬂ%_i’iﬁ
‘M T T T R @ Fe-ahe

ARSI N’ 6 T4 8§ TR WH W A3 2 | ‘N’
TR SR T2 | °0° Wk s e o TR |
‘M’ IR T8 R | R, ‘M’ &1 fiehead verdt
T 2 1S AN T Peean iR 7 2 |

Read the following information and answer the
uestions : . - _

.No, 85-& 86)1_: Eight colleagues- M, N, O,

. Q. R, S and T are sitting around a _circular

table facing the center but not necessarily in the

same order. Each one of them hold a_difterent

ost - Manager, Company Secretary, Chairman,

resident, ~ Vice-President, Group-Leader, :
Financial Advisor and Managing Director. ‘M’ i

sits third to the right of anaﬁ_nlng Director.
Only two people sit between the Managing
Diréctor and *T’. The Vice-President and the
Company Secretarj,i_ are immediate neighbours.
Neither "M’ nor “I’_is a_Vice-Presidént or a
Company Secretary. The Vice-President is not an
immediaie neighbour of the Managing Director.
The Manager sits second to the Icit of ‘Q”, ‘)’
is not an immediate neighbour of ‘T". The
Manager 1s an immediate neighbour of both the
Group-leader and the Financial Advisor, The
Financial Advisor sits third to the right of *N°,
‘N’ is not the Vice-President. ‘O’ sits on the
immediate right of the Chairman. *M’ is not the
Chairman. ‘R’ 1s not an immediate neighbour of *M’,
“$” is not an immediate neighbour of the Manager,
85, ' 21 1% SRl % MR W et ww 3

3 i e Frivaa a0 9 B & 3w

I T TR T & | 98 I 1R W 3

TR § GaiUd e 8 7

)R - AT (13) P - AT

' M - foreira aetrgarn (D) N - T4 fieres
Three of the following four are :}hI\e. in a
certain way based on the we_nlnrgan ement
and thus form a group. Vhich |$ the one
hat docs not belong to that group
tA - Chairman

1ager .
B B g?;;aiifcial Advisor

bt s b

b
M LT e 3 T A T W S A W g (X md S

P B [ Ry

T T

H6. @qﬁa%mﬂﬂ%ﬁuﬁﬁwﬁ?ﬁaﬁﬁ
TR ey
(A) FFH = =ei wavy faeur % demr
A8 AN AZA & | .
(B) 79 iz st sho-afea aere w2 E |-

(©) m@gr}j_ﬂgz aigg ufaEz w5
pcam g g |

QD)_‘S_’, ‘P EH G TH BIA WAZATR |
Vhich® of the following is true with
respect to the given seam&g arrangement ?
(A) The Chairman of the Company sits to the
immediate left of Managing Director.
(B) The Group Leader and the Company
Sccretary are immediate neighbours.
2 (C) The Group Leader of the Company
: 18 an_immediate neighbour of the
Vice President. ]
) ‘S’ sits second to the right of ‘P°.

187, W T o T2 W R | e 10T 2
: hat letter will come in place of

*_ﬁgl—n'}ark"‘\j“"“ -2

e R, T T

LT Hy O 511> =%

- ' 87T [z %0

(J P_D at =

| FA@E%B) 1 ﬁ@%? _g

[ 88. g U Th HYA T %

i s T & AR AR Cre i i
L T 8 T
feeeti

o ;
HY @aiﬁm foeeht | =g
B re—

R
YT 11 : T 998 WM & fou @i

L

¢ statement is given in the following
&uesnon followed by two assumptions. Mark
¢ most appmpnale option :

Statement : Go by airplane from Delhi

to Chennai to rcalc-:% quickly
Assumption 1 : Delhi and Chennaj are

connected by air services ‘
Assum 11(()).n "f‘: TheDrelLs no other me

ol going from Delhj i
Ag Ncullllcr of them is imlgﬁcgt].wnnm'
i

g L] O

ans

B) Both I and Il are implici
C) Assumption [ is imp[;ic{i:?'
D Assump_uon Ilis implicit,

89, Tt e § ¥y 5y 8 € P
la‘{ﬁ TS5 B 8? ¢
low many 8's_gre there in_ the followin
?;Lgteg\;lgcsl éug lmmcdéatsel ' followed by 5 g

RESR8E58888 g 08558885

T A T g

a
ZZ9R

Managing Director

e am st
T
Y
------------ -
-

samena®

(M) 15 (B) 4 © 12 oy 13

T T LY P

bl £ LT

O

o
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g,

90, X7
frery

H(E’IT{FFTTE
v B B | IR T HE
el § & B T, AR A A,
7 AEROT BT B | ST I3 e, |
YA ¢

I.
I %9 9aN IR |

1. =3 o U T 2 |

(A) T 1 3AEN 1 ST HLE1R |
(B) T 11 111 STER0T LT & |

(C), et 1 STE ST 2 | |

(D) e I TE HaT 2 |

In the question, some statements are fiven,
followed by three conclusions I, 1l and
I11. You have to consider the statements
to be true,-even if they seem to be at

variance from commonly known facts.
You have to decide which of the given

conclusions, if any, follow from the |

given statements. Indicate your answer.
Statements :
Only few papers are books.
Some books are e-books.
‘All e-books are magazines.
Conclusions : :
I. No book is magazine.
II. Some magazines ar¢ paper.
I11. No magazine is paper.
(A) Neither I nor 11 follows.
(B) Either II or 111 follows.
(C) Only I follows.
(D) Only 11 follows.
TR ek h1 A
s 3 foe @ 961 10 Hifae
Find the missing _
series following the same jogic :
16, 48, (7), 72, 36, 108, 54, 162,81
(A) 39
(C) 28

- R, ki Y SR |
B s b b e i 8 e e 8 -~

o}

91,

aﬂ%g‘qﬁa"rﬂé;

number for below given |

@T—BM @, s e e . 92.93) : Fyeferfra SR B G
_ l.namni%gqq:g,am—qﬁ—-ﬁqﬁ;ﬁ%“(“ )

@ @ A A el A
8 B fag g ;
few m gper | 11

Qe 3N few Ty % I e |
FATAP,Q,R,S, T, U VR TR ¢d e |
_:l'_-—""_'*.—:-__ . S o s
5781 *fi 21 @ ] HOE 31 TE firerd B |
V gl P 8 st 37 WH FE E |

1

i 1L

LIV, Pl Q § wifires 3T JTH A | @
‘v, welg AR dl R 3 HEE S JE T

e {0 3iR T 3 w7t %0 37 UTH fRT U
@ 1 et wa 9 S 7 Fad Aluh A6 TH
5 TR 3R U =1 Q 7 w=d F9 37 9 e )

: pirccliop (Q. No. 92-93) : Read the following
: information carefully and answer the questions
¢ that follow :

I
3
§
i

i, Seven students P, Q, R, S, T, U and V
: take a series of tests.
' II.  No two students get similar marks.
i Il V always scored more than P,
i IV. P always scored more than Q. p
E'V.  Each time either R scored the highest and 1
i T gets the least or altematively S scores
f the highest and U or Q scores the least.
92. afe R waEd e 37 ferd & a1V FL
T 500 5 ] B IIE: .
(A) wr=al T (B) "t "_|
C) Tau (D) dra -

N B;g_els the most, V should, be ranked
@g f ot lower than

A) Tifth (B) fourth

(C) second (D) third

u@vmwﬁaﬁ%,?ﬁﬁﬁﬁzﬁmm

FABNARE? ¢

(A) QeI TR Y

(B) TR A W? |

(C) S I=TaH TR H 8 |

i, (D) REUEHWE Z
If V is ranked fifth, which of thése must

be true ?

(A) Q is ranked fourth.

(B) T is ranked third.

(C) S scoyes the highest.

(D) Ris rinked second.

R,

i 23.

LY
J& .;

i
L]
L]
i
i
:
i
Ll
i

- b
ST
P e ST ESEE RS (B rpsppers MU KK’

-
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In which answer, the figure will

i
¥
]
i
i
i
complete the pattern in the fnllowingi
i
?
i
|

question figure ?

‘D | &
|
1| 9 ;

@| & ) ® \@%
©|R) o«
TS i 1 i ey w1

STRT TSI I S R 1 Qo & D T §
e Em iR R | e I 2w a
Tl 1 R 3R ey, T A O 2
e 1 el G R sk Tt -
TR B R (3T, T e W R |
qoqT, 981 | ford YRR dafad g2

(A) S0 T8 (B) =T=h

(c@i (D) 1 o

In Rathore family Gajendra Rathore s
the owner of house. He is married to
Puspa. Puspa has two children and their
names are Sneha and Raman. Bikram has
married 'to Sncha and Radhika s
Ran‘;an’s spouse. Neha is the only gir]
child of Sneha and Radha is the only gir]
child of Radhika. Aman is Radha’s only
brother.

How is Puspa related to Neha ?

(A) Cousin (B) Aunt

------- . EELEL T SIS

fo6.

Iy o wes

TS i

Fefalag im0 TIATHF 39T
RUELEIIS s bl
T 4 T3 20 TR | a9
T iz wefl 2 2 Fp e @0 A
W W Seqred i e 9 it o
i g, 14 froet wls dem 1§
W%ﬂm 4 5 fuferr @ ww g |
ST &1 Gt 3 iR TIm S SR
Y 5 H ATH 41 73 &, T G,
H519 1 # yow AR 2, 7 ® w5
Pl 1 R oft, e 6t ot sueTaren &
R Pifer &1 @ aifrs i ol o gt
2 | 31 3 e o w2
IS 1 I T % o ofped av &
%] T § gafed Whren wham ¥ )
&) PtmwmawEy ooyt I
(B) TG ES & |
(© Ffmsra
(D) ST AW |

Study the following passage ¢
and answer the question :

There is more bad news on food
front. It now appears certain that there
will be a shortfall of about 9 million
tonnes in the food production in the
current kharif season, which in tum
means 5 million tonnes less than the
production achieved in the last kharif
season. However, rice procurement may
only be partially affected since West
Bengal and Andhra Pradesh have had
sufficient rainfall while Punjab, the
major contributor to the central pE)ol is
less dependent on rainfall. Still the
overall availability of rice may go down
by more than four million tonnes, There
may be worst news ahead. .
Westemn countries have well equipped
laboratory tests to detect rabics
(A) Definitely true
(B) Probably true
(C) Definitely false
(D) Data inadcquate

(C) Grandmother (D) Mother

Sy in B
..nlu-pelp--nm-nuunll-l'-‘ ] 6
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L ST T
.,--—-" T g Bea e

1

T T 3 T -

53,000 ST TaaTem § § v u%ﬁ‘; i

i T, T, R % o i e

1T 78 & | S R w6 3113

ﬁﬁﬁﬁ s 1 T8 ¥, R @ 2747
.39 13.270 Tt forarmerat d

d ﬁﬁqﬁmaﬁ]m%ﬁ“ﬁ

HETE ITAE G |— —

(A) F_ITH! AT & {6 ogEm I i
o T A % AT §
H ERCEC
(B) afe fen o 31 srwaim # A, fed

T Ao W 3N TG &1 e G & b

i
|
E

3 et W w8 il W

A wairs N :
97. I 951 A0 B8 | 50
77d_ W AL el H A e s el |

: 100

ket WP 0 e O] B Y

Nabd 7 [aek w8 Bomt WO e A 1T P WTF B I R WP Feng P11 Ev2R RTY P s R

P

08. A

I
I wedfan 2. fawrier &
3. S 4. I 5. giEg o

Arrange the words given below in a
meaningful sequence :

1. Prcgcntation 2. Rccommendatioﬁ
3. Arrival 4, Discussion
5. Introduction
EA; 53,4,1,2 EB) 531,2,4

_ 0 3,5, l_\,4,2 D) 3,5, 4,2, 1

99, T Wl I AvipRA A SHERE H N
HYY Il @14
Arrange these werds in  alphabetical

HEE orgey and ({8 theglddle syprd”

% Qutarity. Quick, Quiz, Qtf%;,
EA) Queen EB) Quarte
C) Quality D) Quick

TRad: @al & 1 7o |
(C) e 37T TN & i e ffvea

e & |
(D) a2 U T R T ST §
o9 5 o MY AT o IS |
b kAL
Primary education in Bihar is in a poor
shape. Pupils in over 50 percent O the
schools read in the open throughout the :
Y'ear. Over six million children born to:
ower income group parents remain
Unlettered. Not cven one percent of the
63,000 primary schools have facilities of
furniture, toilet, - drinking water and
games. 3113 new teachers have been
appointed in the current financial year s
out of which 2747 arc women. Now each :
of the 13,270 primary schools have at;
least two teachers. ‘|
Classrooms of most of the primary
schools in Bihar are inadequate. bl
(A) If you think the inference 1S pro! aﬂ:é
false though not (!eﬁmtcly false in th
light of the facts given-
(B) If the data given 1S ¢
from the fact given you
whether the inference 15
true or false.
(C) If you think
.~ milelyl:rl}lc inference is
D) 1 Jink the mnlerer
®) tr{:u};?utl?ough not c}cﬁmlcly t
light of the facts given-

g s o or B s
i ——

R
@,@?ﬂ‘ﬁz

;
£
3
i
=
£
i
]

i

nadequate i€
cannot say

likely to be
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. Wk (R g v H, AIEEE #
BIFFF fr@n wman 8 1o S
[ ww FkE g 9 H, GYPSY ® )
FXORX fd@ismig !l |
(A) Tz e 1 SISt 3§ 8 Sl
T IH_eA oY U 9l
A & |
! J\Uy@ﬁ? 71 o_headt U 1 e} T T
1l 3 2) T S IR H IR
By RuEEe |
(C) AR et U 1 B T FHHEL ST
1 I Hel
(D) 7fe EXCRl AL,
YT AL e A0 TH B~
Read the given below Question and .
statements and choose the correct answer:
How is PRODUCT written in that code
language ?
I. In a certain code language, AIEEE
is written as BJFFF.
(1. Ina certain code language, GYPSY
is written as FXORX.
(A) If data in both statemnents 1 & I
together are necessary o answer the
uestion,
(B) 1t data either in the statement 1 alone
or statement Il alone are sufficient
to answer the question. ,
(C) If data in the statement I alone 18
sufticient to answer the question:
(D) If data in the statement 1l alone 15
sufficient to answer the question.
....-....---o---l'---v---m-“-‘""-"'-“-"-—Mv-nmwu.u.-wmu--u---v'-'"'" KKz I
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e STl / Genernl Awareness

&1 ATa] E 7 .
The speed of Modem is calculated by

which among the following rate?

106. “fra ugy AFmew Raar y@m o
frafafea 44 frm R mmr a7
(A) 2774 (B) 18 =t
(C) 1 feEm (D) 18 %
“World AIDS Vaccination Day” is

(A) BPS (B) FPS observed on which the followi
(C) GPS (D) CPS o s da chc%ycar ,‘?C among tne following
Fam A EA}/ 27" March EB; 18" April

- — _ C) 1I¥December (D) 18" May
(A) TERATA B) WA TN 107 it viomia Aefefed § 8 fead
(€ TFHEd (D) FEid IR T2 7
Kullu valley is also known as i it (A) gad e (B)‘ﬁ.ﬁﬁmﬁfﬂ
(.’\) \;a"cy OfpinCS - ik (C) q{am (D)WE-{&]T

(B) Valley of Gods
(C) Valley of Ice
(D) Valley of Flowers
T % TEmt 200 Hiew T A S A
T = & fd Temg 3 i e 7
(A) Sg Feel (B) fatre’ i
(C) fasmra (D) faumar i
What is the name of the World’s first
200-metre-long Bamboo Crash Barrier:
which has been installed in Maharashtra ?
(A) Bahu Balli (B) Virat

(C) Vikjant QD) Vishal . :
A &l H A1 A THIEe % o gedt-
WA 39 (MAIA) e &t ot o oo |
Fefeiad

£
B
i
£
H
E

Montreal Protocol is related to which one
among the following ?
(A) Sustainable Development
(B% Global Warming
(C) Ozone Layer Depletion
(D) Food Security
. Pefafead A e dr wid ¢
(A) g1 =R (B)
© faeft - (D)
Which of the following is not a defect of
vision ?
A) Persistence of Vision:
B; Presbyopia
C) Myopia o
D) Hypermetropia

108

% £109. JARI (W $ft suum @wm) 3
27 i)} @'* ﬁﬁﬁ%ﬁﬂt{%ﬁmﬁ"@ﬁﬁaﬁ
(A) ¥4 (B) 4.T4.T, : HAT" 1 TN 5641 2\
(C) weeht (D) ST (A) Ha% (B) ngv_vﬂ
Recently NASA has partnered with (C) THI (D) 73
which ~ one ~among the following §. In which among the following cities did IARI

countries to launch Multi-Angle

Imager |
for Aerosols (MAIA) Mission ? i

(A) Russia (B) U.S.A.
(C) Italy _ (D) Japan :
“aaaredl”-fdy_ard 91?21 F Ty |
e, 9444 | & Al 3 el
(A) 7w weg (B) T_eIH '
(C) T (D) =ftamon

uBa-n'awa.h"-;} major city of Indys Valley
Civilization is presently located g which
among the following states of India ? ;
(A) Madhya Pradesh (13) Rajasthan
(C) Gujarat (D) Haryang

i e A L L S e T b 1, i x
o e,

(Indian  Agricultural - Research  Institute)
organize “The Pusa Krishi Vigyan Mela™ 2

(A) Mumbai (B) Jaipur

(C) Rajkot (D) New Delhi
110. oiE e F @ A merf,

freTfeilaa 7 9 1%a Tﬁm%-q% ?

(A) TEIH fergm

(C) IT Y (D) Ty Wy

'Madhubani', a style of folk paintings, is
popular in which among the following
states of India ?

(A) Rajasthan (B) Bihar

(© Ull‘rﬁl’mdesh (D) Madhya Pradesh

] gy

O
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113.

114,

LD
et Bt s o e S L

A A B e 1wl g da |, Rl i e

kIR GH' csd 'ﬁt{{ ﬁ{ ERIEFGIR

I P@w]q"e, ? T
(A) a4 (1) o
c) e Tl (D) e i
Who among the following is the first :
Indian and Asian skipper to complete the |
Golden Globe Race - the longest |
sporting event in the world ? T
(A) Avan Chaturvedi

(B) Aarati Saha
2
D

— mEara

Y L LTI T

Abhilash Tom?r
Bhavana Kanth ;

I 1 G4 $ 10 !
WE

7
(A) TES.
(C) e (D) T
Which among the following cities of
Maharashtra state has started a new:
initiative named “Beggar free city” in§
order to accommodate homeless people

in its shelter ?
) Mumbai (B) Nagpur
D) Pune

A
§C) Nashik

et 3 & u
ill-Thi% HEYEE ¢ Wm
GK)ET.WTH'&'W (B) sl A TH?

(C) Fmfa g (D) ST, 37 AITL
Which one among thc following 1S the ;
author of the book ~India’s Vaceine Growth ;

Story-From Cowpox 10 Vaccmeq aitri”,
who is also a civil servant of India*

A) Dr. Sajjan Singh YadaV i
B) Dr. Anshu Priya i
(g Ashish Kt}l_r}dra bursi
Dr. Arun Tham _ !

‘15"") e |fau™ 7 3 forah |
T EEatetEd 4t ?

(A) Torsran et Ufsd
T T

(C) . =3, A
o - ation was hand-
The original Indian Constitution was ¢
written by whom among the following :
(A) Vijaya Laxmi pandit

(B) Balasaheb Gangadhar Kher

C) Dr.B. R. Ambedkar
%D)i Prrcm Behari Narain Raizada

T L L s s Bt o
1 e bbw B )
el

(B) AT

B BT YN LI TR -

y“?
S

116.

117.
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(A) F[AZA WEET (13) o oE 49
(C) W3, sl (D) SRz =4
Who among the following is known as
“The Frogman of India” ?

(A) Suvendra Nath Bhattacharya

(B) Sathyabhama Das Biju

(C) Samir K. Brahamachari

(D) Jagdish Chandra Bose

ffifad B 9 HF @ wEehE 5w
FeToa ATHe % DY e 9 eI hind
G ___?_______

(A) AR THET
(B) & degr Afufan
(C) TaTaoT HTEToT 3t
(D) TEd gt ST

Which one among the following focuses
the expeditious disposal of the cases
pertaining to environmental issues ?

(A) Compensatory Afforestation Act
(B) Forest Conservation Act |

(C) Environmental Protection Act
(D) The National Gréen Tribunal

“Eﬁ“a’f\mm%ﬁm@f@aﬁa@a
T HIA (TASEIAT) FRI HASE

iy

TieA Ttd o &9 7 Y T T A 7
(A) Tremdee] (B) YsgHd
(C) T (D) FISEaFTe

“Ikat™ is the weaving pattern of which of
the following villages of South India which
was also selected as the Best Tourism
Village by United Nations World Tourism
Organizations (UNWTO) ?

(A) Pochampally  (B) Pattadakal

(C) lampi (D) Kodaikkanal

e bl et ot i b g ped

KK2
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118, Fm=fafga i d SH W 313&1’613“1.‘3?
(A) e afer . - EERIRISER
(B) TR _ - e T
(C) T TR B - [EERCUIRIECR
(D) TREN AR, - FEHA T
Which among the following 15 an :

inappropriate pair ?

(A) Lingaraj Temple - Somavanshi
Dynasty
(B) Khajuraho — Chola
Dynasty
(C) ~ Group of Hampi - Vijaynagar
Monuments Dynasty
(D) Thousand — Kakatiya
Pillars Temple Dynasty

119. fifafea & @ feg T & wma
C i % T H AT 7
(A) TEHG A (B) TAERUH
NGy Tl T ORIHEREE
Which among the following rivers is
known as “Sorrow of Bengal” ?
(A) Mahanadi River (B) Damodar River
(C) Kosi River (D) Godavari River
120. Hfers sfieri % deu § frafafa 4 @
HH G R EH R 7
(A) Tiers RIUwR & R
2 ok TEraa T )
(B) wifersr i 30 TLIMIRG 8 3R
g AUHR g |
(C) FeIF A I W Hl T=a1 &
| e HfEeR fogmg
(D) ¥ifers e F e g
TTTaRTA % <A B et fean
o gHagl
Which of the following statements is true
regarding Fundamental Rights ?
(A) Fundamental Rights are our natural
rights and transferable rights,

(B) Fundamental Rights are based on

age and are transferable rights,

(C) Fundamental Rights are given as per
will of President to every citizen,

(D) Fundamental Rights can only be
suspended during a  national

emergency.

AR ¢
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121,

fra 3y qm-—nwmq? : -ﬁ’r n—:rm:ﬁzmm
d2

(A) Fraf (B) =t

(C) At (D) T4T

Which of the following was the capital
of Surascna Mahajanpadas?

(A) Kashi (B) Champa

(C) Vaishali (D) Mathura

122, %F@a%ﬁﬁ;ﬁna?mm 1818 T F1
o AR H R T ZT0 9Eel MIEE F
P T T T 2 ’
L () T (B) wierhTl
g (C) TS (D) EmzETe
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125.

= At which of the following places, the first

Indian cotton mill was established by
Henry Gouger at Fort Gloster in 1818 ?
(A) Chennai (B) Kolkata

(C) Mumbai i ) Ahmedabad
sEa-Uelt FEt vt @l gored v &
Fforfiea § 2 frm wT o ur Sl 8 7
(A) S I FTR (B) B

(C) 3Ty Yeu (D) 3"

The earthquake-resistant construction
Dhajji Dewari system is found in which
of the following places of India ?

(A) Jammu & Kashmir

(B) Tripura - - -
(C) Andhra Pradesh

(D) Assam_ _ )
frerfafea 1 ¥ fra agome @ <HeT
FeUE” & A4 § W A AR

(A) WITE FEUTE  (B) Efead HEUNR
©) TR (D) TS 4L
Which among the following ports is also
known as “Deendayal Port” ?

(A) Paradip Port ~ (B) Haldia Port

(®) Tuticorin Port (D) Kapd.la Port
Frefefiaa 3 & fre & 1905 1 we | “gfe
2736~ O Fram ) g b o 7

A) Taa gd (B) Ben i
(A)

(C) TaTh Fou =mi (D) HeAene i
who among the following established
«Jndia House — a student residence™ in
London in year 1905 ?

(A) Chittaranjan Das

(B) Madam Bhikaji Kama

(C) Shyamji Krishna Varma

(D) Madan Lal Dhingra

T e e
e
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126, T 4% 3 °H1 3R 3ty weoq i)

1 giEad ?a‘?r—ﬁﬁgﬁa—m—%?—u\‘fﬁ form

-

The Reserve Bank has di;':‘ctcd b
and other entities to transition
which rate ?

(A) LIBOR (B) FIBOR
(C) MIBOR (D) SIBOR
PR 3 8 9 Y st § B o
1 A =T 998 WH 1 W@ e 7
(A) BT A_Rr
(B) mdlar frgim
(C) FHTdTE
(D) =3 Hifa & fiews fagg
Which among the following is the ideals &
that a state must kecep in mind while
framing policies ? !
- (A) Fundamental Rights
(B) Gandhian Principles
(C) Socialism : _
(D) Directive Principles of State Policy

WA H Hai= |ieoa JEhR . B |

C) =43 -

5) S am .
The highest literary award in Indiais ___.
(A) Tagore Award

(B) Sahitya Akademi Award
(C) Jnanpith Award

(D) Vyas Samman

- —

anks
away from

127.

128.

-

129. Traferfea # & fo5dl g Srehied] © &9
M1 ST STl 87 /
ECE (B) =T ;
(C) ®idesigs - (D) 3°- '

Which among the following 'is also
known as wood alcohol ?

(A) Methanol (B) Butanol

(C) Formaldchyde (D) Ethanol

130. vHuES-dHuadl (Wd_gerad_de-
e wrdzd) o _feraedianl & 11
(A) s-Twen (B) s~
() $-mifa () 3-u9f&

The NABARD pilot project for digitisation i
of SHG-BLPs (Self Help Group-Banki
Linkage Programme) is calledas :

(A) e-Samraksha (B) e-Shakti
(C) c-Shanti (D) e-Samriddhi

i s "

B 1 s

om0 awy

fr w27 w1 (WHO) 3 71e & 1 T
it =l 3t e ot frm R ¢

(A) AUTE N AT

(13) MG ST g

(C) BAAA N A=

(D) FA1 IR AT

World Health Organisation (WHO) certified
which countrics as Malaria-free recently ?

A) Nepal and Bangladesh

B% India and Cuba
C) Azcrbaijan and Tajikistan
D) Cuba and Ncpal

T § I AT WA THR H RCS

or] % e M e Idi=T41 &7 % G5l
T hIeS BT ATER?

(A) BT T8 371 (B) TR 213 37
(C) SHHUIeT ZaTs 3781 (D) WIHAIT TS 3T
Which among the followmﬁ is the first
green field airports of the North-eastern

region of India under RCS scheme of
Government of India ?

(A) Rupsi Airport ~ (B) Lilabari Airport
. (C) Donyi Polo Airport (D) Pakyong Airport
133. S ﬁmrzﬁg)%ﬁqm gl

131.

132.

4

-

T8 AU el (T 2 7

(A) ferere (B) AR

(C) IeTeedd (D) et arard
Which among the following waterbodies is
the most Saline waterbodies of the world ?
(A) Pulicat

(B) Sambhar

(C) The Great Salt Lake

(D) Gaet’ale Pond

134. MRA-H1-Wad IoT ¥ o 7 R
Uh ® |
(A) TR (B) SIOTHT L
(C) AT (D) TR

The Bharat-Kala-Bhawan is a university
museum situated at in Uttar Pradesh.

(A) Lucknow (B) Varanasi

(C) Agra (D) Prayagraj -
135, Afiret e < w4 @ w2 RR_afe
giled K wgd U IRg e T ey

JA) eenfemor (B) awany T
(C) ala_amia‘mq (D)
Which is a work of Tamil Grammar that

is said to be the earliest extant work of
Famil Literature ?

(A) Silappatikaram (B) Valayapathi
(C) Tolkappiyam (D) Man?mckalai

—
e e,
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140.

T sy g
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136, T Eﬂ-r & S o anwf@ 31ﬁm1=l :
Prfefon # 2 e geam A dAkmd 7 | %%‘?m 1 e F
(A) 380 (T STaRet STHUT He) ; (1) T (Fiz ‘Féan”f%ffqvg”l i ')‘)
(B) WG (TG STRYR 4R) () gEd (el afafar TE)
(C) dremrm-wilie (dmhd Ak P (D) dedal (w FEI A fm
A aEum ufe-TEl | LUCE)
S i Which among the following institutions
' A = ) . i recently tested “CE-20 Cryogenic Engine” ?
(D) dramaa (ifeh HEHUTT{_SRPITFSHHT) ; (A) PRL (Physics Research Laboratory)
“One Week One Lab™ theme-based ! (B) HAL (Hindustan Aeronautics Limited)
campaign is associated to which among .E% (C) ISRO ~ (Indian  Space  Research
the following institutions ? , (D) g%%mu(og)efense B ot and
(A) ISRO (Indian Space Research ; Development Orgamzaticm)
Organization) 141, TR Y
(B) BARC (Bhabha Atomic Research Centre) y &3 o gl 3T = Q ng
(C) CSIR-NCL (Council of Scientific w = ?E”al ST We 5.
and Industrial Research-National A Hesh <1 B.L- -
Chemical Laboratory) (A) HeftfrEm HFE v (B) ij‘é SH HET
(D) PRL (Physics Rescarch Laboratory) g%at is the common(igéredient in antacf;
137. “Srzal giel Hems” fetafed O 3 fieg mild abrasive in tooth paste, a constituent of
7= 1 ST %;1 T 2 : chewing gum, and a filler in cosmetics ?
= : . {A) Magnesium sulphate
(A) d&mE . (B) : (B) Calcium carbonate
(C) afeTg - (D) HAleH : (C) Ascorbic acid.
“The Kodava Hockey Festival” was held : fD) S?dium I%icgbg;tc SR
at which among the following states ? 142, T ﬁ? U= =h, ¥
(A) Telangana (B) Kerala "
(C) TamilNadu (D) Kamataka ~ {  (A) % (B) WA e
. 4 , (C) 3 (D) TSI
138. HH ‘F" dqr,:i“-*:*- W qferTT % ed el i ‘Matki’ is a popular folk dance of which
@mm?ﬁwm% ? of the following states ?
(A) =9e 18 (B) 313“—_?"3321 i (A) Bihar (B) Madhya Pradesh
N, . 3 C) A
(C) FFZ15 (D) TR s & A @%DQ)E Rajasthan,
Which Article protects a person’s right to : - WW%&'IE WE W%mj
travel abfoad under Indian Cm?stilu‘;ion? : (A) TIUG TIHTR
(A Article 18 () AdticleZ (B) oAl R
(C) Article ]5. (D) Aru (C) Rmaum
139, faefafaa 4 Jifawd IEET L (D) umirE
— - Recently, Aurangabad, a city located in
(A) g (B) I{F{H : Maharashtra has bcen renamed. What is
() au (D) W ! the new name of it ?

[T L

Find the Jovian Planet among the following :
(A) Earth (B) Uranus
(C) Mercury (D) Mars

(T
P R A o e ae R ]

[hapn g et frn d Bl A

P P BN

22

(A) Chhatrapati Sambhajinagar
(B) Chhatrapati Shivajinagar
(C) Shivdhara

(D) Dharashiv
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144, Prefalad 2 WA W AR q 1k E 147, e @3, e aem g T 3159 )

A el < SHadshl Yalid Rl 7 | T2 7 30 AR -3 = e o)
S : A 1 ey = 5 fquc ,."I‘-Hg_m
(A) AfrEwEe : : T CHA TF

AITH A8 7 A AT AR R, a8

e U2 SIS waETer
(B) W ¥ ST 3T 13 ) Aotaa § 3 e

(C) T Tmgrer

e

: 21 9L AP T 71 a1 g
(D) TS WIRIE o (A) fefe (B) T
Which one amoug the following (C) ATF (D) Fifreh
museums  showceases  life  of  Tamils ]

Recently, Indian Army conducted flood
rclicf cxercise named *“Jal Rahat™ to
validate joint drills and coordinate
preparedness by multi-agency flood
relicl  columns, this exercise was

EE&% conducted on which of the following

during Sangam age ?

(A) The Napier Museum

(B) Fort St. George Muscum
(C) Vivekanand Muscum
(D) The Keceladi Museum

W v T T T T ]

T T

. : . . rivers of Assam state ?
145, Pefalee 0 8 fog wieda dem 3 (A) Dihing (B) Mana
ERERE arRigad fm 8 uate & ‘ (C) Barak (D) Kopti
T8 A feaniear 9nd frane ¢ { 148. Rreefiehea & o1ra T gne 87
(A) Irsuray (3 fawa Fafereen fagm) (A) g o Wil ! a7 2 |
(B) AR (wieftw  faferean | (B) ¥& Fod] 9 I s 2 |
IEYUH TTwg) _ i (C) GEWM % ISl & INH B famm 2 |
©) Hifa @ (Uf wra  ufEdd (D) g W3 UTeH 1 famm 2 |
I - 3711) : What do you mean by Silviculture ?  f2.
(D) T (1figer witeta aTrgfam wer) (A) Itis a science of forest farming. @
Which one of the following Indian (B) Itis a science of fish farming.
Institutions has  released  “Ethical ; (C) Itis ascience of growing silkworms.
(E)‘"xpidcl(i:‘r]f:sl 1£0r AI1 i{)\ Healthcare and : (D) Ttis a science of rearing sheep.
tomedical Research™? : - TN
iy . .+ 5 149, Ty=faRaa 1 @ forg gret wwre 3 $= dfem
(A) IMS Interdisciplinar Medical . i -
Scienceg) j . - F AT T qob I AR
(B) ICMR (Indian Council of Medical rafa et et 7 )
Research) . (A) PR _—~ (B) ?16_11“5 —
(C) NITI Aayog (NaFional Institute for;‘ (C) wme=taT «— (D) ST
Transforming India-Aayog) i The East India Company was given
(D) AIIMS (All India Institute of} ermission to trade duty free in Bengal
Medical Sciences) g y which among the following Mughal
A TR
146. Wa o diai (%(ﬁﬁ‘mé a@%ﬂ'@m) gC) Shal?jrahan Egg f{lgfanngglgcb Z?
[VOC~ (Vereenigde Qostindisehe 150, Sy 3§ 3 92 IACARSEE
Compagnie)] Mw ﬁm—\_ﬁ_ﬁ a-fafaus & @iy
feraes g fpn T =0 7 A e e MR e
(A) & (B) 2 (A RETEG(B) wiEea
) wmed (D) fafew (C) 3rm) (D)
The VOC (Vereenigde Ot)s[1|1E1L|15C%lc l\:{ lllllc‘l} among the following is the
Compagnic) in India was formed by ¢ ,”%' 1est peaks of the Western Ghat that is
which of the following ? ;Vi’l‘i‘] :H.Lh Eif\)”i:ﬁ(“(};\\f;\rld Heritage Site
(A) Dutch (B) French AY Koluribettn Y8y Kotichided
(©) Portuguese () Brish 1 (e} Rpjribeta iy Koduehadri,,
O i 23 .......... e e o i B A S KK‘?
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